o

How many types of genotyr_)es are formed in F2 generation of monohybrid cross?
ThER G T F2 et 3 fora wehr o Sy fafifr ey 29
T3 @) 2
) 9 (D) 4
(E)  Question not attempted / AR w1

Which coal contains the highest amount of carbon?
(A) Bituminous

(B) Anthracite
(C) Lignite

(D) Peat
(E) Question not attempted
fora e = vfirsras 7 & sl arr st &2
(A)  foefrm Y T
(C) forarge (D) e
(E) IJuiaa=
Select the plants found in the subtropical mountain forest in Rajasthan :
(A) Mango, Neem (B) Dhokra, Palash
(C) Khejn, Ber (D) Ker, Thor, Foag

(E) Question not attempted
Wﬁ@mﬁdﬁﬂﬂ?ﬁaﬁﬁmmﬁmﬁqﬁmww

(A) W, 4" By T, T
(C) TE, (D) O, BT
(E) STIaRa

Bamboo forest is found in which of the following districts of Rajasthan?
Choose the most appropriate option from below:

(A) Churu (B) Jaisalmer
(C) Banswara . (D) Bikaner

(E) Question not attempted

o 3 & wa ST fashed

(A) T ‘ . (B) SEe
A€7 |t . (D)

(E) HAIAf@ya

Chuliya waterfall is located in which of the following regions of Rajasthan?

Choose the most appropriate option from below: )
(A) South eastern plateau region (B) Western desert plain region
(C) Eastern plain region (D) Aravali region

(E) Question not attempted

Fferar sreugTa TeedT & Frafaftaa § | fpg g o oraftaa &2

e 9 e e Fre <)

(A)  Feor eff verly & (@)  afered et e &7
ey gt et & (D)  aeh &

(E) igaiaga

Ql?ﬂ? 2

[P.T.O:
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What percentage of the total land mass area of India is in Rajasthan?
the most appropriate option from below:

AT *ammﬁwaﬁm\mrmn%’
mnamm%mw

Choo:-e

/(,_A() 10.4% o} (B) 12.4% b,
- ~p ™ 3 c“
(C) 1.370 V-f (D) 13.3% W0
(E) Question not attempted / A W W
Rosewood, Mahogonyand Ebony species of trees are found in which type of the followingTorest arcas?
Choose the most appropnate option from below: M
(A) \lont:me : (B) Littoral and Swamp i
(C) Tropical Evergreen , (D) Tropical Thom
(E) Question not attempted s
nmqévﬁﬁaﬁ{@ﬁaaﬁ%ﬁgﬁu%?@aﬁﬁﬁmm%ﬁmaﬁ%v =
F’ﬁqaaaﬁmﬁmam O
WA O (B) @9 3 et w
(C) SUFRSYE 'ém{am (D) SR FRR S
—
() IFaRawE A
- i
Data are transferred between different components of a computer system using physical wires called :
(A) Bus (B) WAN
©) CPU i (D) Flowchart g
(E) Question not atgﬁnpted .
mﬁmﬁm%@ﬁ:m%mmaﬁmmmwm%mmmmm Rt
(A~ =9 — (B) i
(©) ¥y 9 _ (D) T g
(E) Jquiaws —
In Microsoft word, which of the following provides information about the current document?
B) View buttons
(A) Status bar — ( 1 C -
(C) Standard Toolbar, (D) Tabstop 88
(E) Question not attémpted
maéﬁﬁq%%ﬂ 3 T T TR 36 S SRR e el &2 3
(A) W@ ABT a{\az':'q o
‘3 (D) WEW ™
“e_Sgdgg T M) i
(E) Jgaiaws
10 Which of the following is NOT a function of MS Excel? s
(A) MAX 0 ;i = (B) Subtract () 3
(E) Question not attgmpted O
et 3 & @ T A TE R e
(A) THIH O ;33) (B) |IRHR() (C%
(C) &R0 - APy~ THHRE () —
(E) uRa ¥
3

Q31T

[ P.T.O.
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TIIE MRS LUTHPOUNA CHN DC QDUNNCA TTOII NG NIVITIE Q5 UTIIDIIID MAELy GUIN e snsnss == my 20000 70

mcthq)(iu n “lhﬂ[ﬂlﬂ[y ] hiu 14 colled ¢ o |
(,M Vital Foree Theory (B)  Theory of Hydrocarbons
(C)  Freons Theory (D)  Wohler Theory

(E)  Question not attempted
a5l e vt o) deren oo ottt @ W0 i e o v e e seiveranren i o fafirat g wis3fore
v s &) e .-

) N7 . wifes ferara (B)  wgyER fagta

(C) Pt fagha (D) e fasta
(E) srqafarau .,{* 'gﬁa %U:’S
A\

-
12 Match List-1 with List-11 \\A& —_—
List-I (Forest Arca) vg\ List-1I (Place)
a. Sariska Alwar
b. Darrah Kota
C. Mount Abu Karauli
d. Kailadevi Sirohi
T -1 g -1 @ gafoa AR
et -1 (7= &) gt -11 (FaT)
a. afem — —A. AR u a,
b =dE o @ VW2 )
c mzm>/,,__————m. Fet /
d. e v, e
Choose the most appropriate answer from the option given below:
s fog 1o el 8 i Ses s 9
a-Lb-1,c-1V,d-1II ~ (B) a-I,b-lc-1V,d-1I
(C) a-iLb-ill,c-1.d-1V (D) a-1V,b-Mlc-1,d-1I

(E)  Question not attempted / 3Faftd 94

o
13 A metalis in the form cubic crystal lattice. Lattice constant of unit cell is 2.88 A and density of metal is 7.20

gm/cm’, What is the number of unit cells for 100 gm metal?
-

v 1] % e et e 26 v 3 B) v e ot wirers Fraain 2,88 A & T 9T T 9 7.20 gm/em’
81100 T uTq 3 e ferTaR i whea T 87

(A) 2x10?! (B) 3x10%

(C) 6x108 ABY 5% 10%

(E)  Question not attempted / i vy

14 Frfefea avwt # sy arm 3.

22)) mmqﬁ%l (B)  or== uif & srer o v 4m
& Ay _ADT a@ i & mam

Q13 ] ?: 4 [ P.T.O
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[ - |

he most appropriate English translation of the given sentence

t
O T o f €2
(A) He is insulted by W?lomrf (B)  Has he been insulted?
~~ Who has insulted him? (D) What has he been insulted by?
(E) Question not ntlcm.ptcd ~ ’
Choose the most appropriate rcporlcd form of the given sentence:
wpo you realize that the shoes you are _:vgnring aren’ta p;ir'?", I asked.
(Ar 1 asked him if he rcalizcilhal his shoes were not a pair.
B) 1 asked him if he realized that the shoces he was wearing weren’t a pair,
© 1 asked that was he aware that his shoes aren’t a pair?
D) 1 told him that his shoes aren’t a pair.
(E)  Question not attempted
Choose the most appropriate option to fill in the blank:
“Is dad in?” ,
“No, he isn’t. He home an hour ago. He ____ yet.”
(A) Leaves, didn’t return (B)  Will have, has not returned
(C) Leave, not returned (D) Left, has not returned
(E) Question not attempted
Which of the following mountain peaks is situated in India?
(A) Mt Annapurna (B) Mt. Kamet
(C) Mt Everest . (D) Mt. Dhaulagiri
(E) Question not attempted
frafafaa 3 & S a1 gaq et wwa & frra &2
(A) WIE= =Y (B) WRT &M
Oy TR TR (D) W=
(E) i@ ud
Tors, block mountains, rift Valleys, bare rocky structures are physiographic features of which of the following
regions of India? ibeo
(A) The Peninsular Plateau of India (E) Northemn plains of India
(C) The Indian desert (D) The Island groups in India
(E) Question not attempted '
W, =T g, sigr afeat, T S ST Wi o fefafad 3 @ fee &7 i speTafa fareand &2
KT M & TS 48R (B) T o It A
(C) T e (D) T &9 /9 E
(E) smEaf@se ) " 2{ \{
Who among the following is not appointed by the Governer of Rajasthan? OO\\J E (oA
\Q

Choose the most appropriate option from below:

(A) Vice Chancellor of State Universities

(B) Chief Justice of High Court.

(C) State Election Commissioner o

(D) Chairman of the State Public Service Commission

(E)  Question not attempted
ﬁmﬁﬂmm%mmﬁgﬁqﬁ%mm%?
frafafaa & & wad :mgw fererea I

(A) T faafrerad & Feata

_ABF T ATTeR 3 e A

Q3] F

42 Usg faataa sngw
(D) T i QT HATEN F A

(B) 3Irgafwaws

h

[ P.T.O.
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21 Under Article 323 of the
annu PoTtasToThe work done by the commission, to whom?
(A)  Vidhan Sabhy (B)  President
(C)  ChiefMinjster (D) G(wcrnorm
(E) Ques\_ 0 not attempted

: o .
;’ﬁ% %Njﬁ}mn&m,maﬁﬁmmﬁnmmﬁM%&gmwﬁmﬁamﬁnmﬁmmm%aﬁ

Icc Lommission has a duty to present ap

%ﬁuﬁé@uﬁaaﬁ? i
o faaeen B) gl O
©) TJ=adeh (D) Ty )
(E)  quRduy I
22  The body working at the highest level of Rajasthan administration system is :
Choose the st appropriate option from below: i
(A)  Govemor’s office (B)  Chief Mififster’s office
(€C)  Minis@rs

(D) Govcmm{e?t Secretariat
()  Quesidn not attempted 0

T wortst () % seaa v v e 2 8

By T U forerea o - ™)
(A) Tge Tt (B) Terw:ft Hrdfiery
(C) ==t APY  wr afaaey
(E) 3safaun

— (n |

23 Who was theChief Secretary of Rajasthan as on 5th September 20247y
(A)  SubHaSh Chand (B)  Sudhansh®Pant
. A

(C)  SatishKumar (D) Jagdish l\;l_gena
(E) Quesgn not attempted o
m%waﬁawsﬁwzomaﬁ)aﬁ?ﬁ? ™
(A) TSR By guir gy
(C) =W FAR (D) Sttt wftony
(E) agarr_{{aw o

24  Aman take$yS days more than Bhanu to do a certain job and 9 day&'more than Pankaj. Aman and Bhanu
together cafido the Jjob in the same time as Pankaj. How many days( an alone would take to do it?
S FE R 0§ AT 5 R ot eor i 0 et oy e A 3 g et 3 et o ey
%mq@ﬁ%@mm‘r@mﬁmmmﬁﬁmm“gn
(A) 20y (B) 25 m
© s = (| o7 o1s v

(E)  Question not attempted / SfEa g

25  Ajay invested a total sum of 7 7,100 in three different schemes of Eﬂnple interest at 3%, 5% and 7% per

annum. Affhe end of one year, he got same interest in all three s@mes. What is the amount of money
invested at 5%,?

= : 0
ma}%,qi/oa_fn7:4yﬁaﬁﬁaﬁmmmﬁmm-mmaﬁﬁgmz 7,100 & faawr
T A % SR A A AT o s fae 5% T E¥a91 iy wd i o

72, . # T 1,500 M
?‘f/ 23,500, (& D) i
(E)

T 2,500
Question not attempted / Wﬂﬂft‘d 4

Q13 ] ? 6 e [P.T.O.
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26

27

28

29

30

31

4
¢ value of lO?.B»/Iz +25%of 512 — 5 of 75 is :-

Th
1028416 + 512 FT25% — 751 5 I qH 8:-
(A) 4,180 (B) 5,900
©) 4700 (D) 4910
(E) Question not attempted / Sﬂﬂﬁﬁ L
: blood group can accept blood fi :
person with group pt blood from all, while person from b
donate blood to all. P — blood group can
(A) AB+ = rcspectn'vely (B) AB+ ; O+ respectively
© O+ AB+  respectively (D) O- ; AB+  respectively
(E) Question not attempted :
/;ﬁtaﬁmwﬁﬁaﬁﬁmmmmim i at aren =afe ot F w2
gaar 2l
(A) F:AB+ ;. O- ~B) #®Wm AB+ ; O+
() 0+ AB + (D) #HIM: O- ; AB +
(E) I sd , A '
A dealer offers thrge successive discounts of 50%, 10%, 20% on an article. What is the single effective
discount rate? :
e e et aEg TR 50%, 10% 37X 20% < ot e T &1 Tt el g X et 22
(A)  69% 72%
(©) 60% (D) 64%

(E) Question not attempted / A T
3
e length of whose latus rectum is 8 and eccentricity is 75?

What is the equation of the hyperbola, th )
SIS 8 TUT Sehedl 5 82

maﬁmmmw%ﬁﬁqﬁmwaﬁ
LA WQJC‘M“AW e

- J )
(a) —-I-=I
16 25
LA S\ LAl o
© 25720° AP %
(E) Question not aitempted / TR FE
After the death of Rana Ratan Singh who became€ the ruler of Mewar? .
(A) Rana Vikramaditya (B) Rana Amar ang.h
(D) Maharana Raj Singh

(C) Maharana Pratap
(E) Question not attempted
T T ohi 17

oI e i <t e 3 T TS .
=4 wnm 3 "”E*'o” (B) Wwﬁg‘

(o s (D) WErn T fa'

(E) ordfta w4 |

(WA‘;ich:rt form is Mangilal Mistri associated with? EE

©) S;:ﬁ;ai . (D) Kavad

(E)  Question not.anempted o

Wﬁrmmm . R

S » m

© ' P

(E) 3Tqaia s
5 [ P.T.O.
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~ - ~ o ~y . ag foyw A 17 e
32 Inthe first sage of formation of present state of Rajasthan Cabinet of matsya union was formed under the

Radership of ""‘ i
(A) S Pagg Singh (B)  Shri Mange Ram )
(C) Shn Shdha Ram (D) Shn Alwar Singh \O

() Questicerhot attermprad

Wm%#m&wwwﬁmmmwwkmimmw

A) =dw ?55 (B) W Em TR ™M
4277 R uhTIw O Mawwie
(E)  STSRaww

33 Kavita is motiThin-daw of Seema who is sister-in-law of Ashok. Ajay is fathegaf Vinod and oaly broth rof

Ashok. S“““% wife of Ajay How is Kavita related to Ashok?
A) .\l\\'ium\hw (BY Wife
(©)  Nothern= (D) Sister
) Questidabot smempted

01669

=T T He ¥ o o e S R uﬁtaﬁ?“‘“sﬂ% whdmssERAwh

IO SO T TR e &2
(A = (B) u=t

Aoy = g

<
' ﬁ\\sf@r% =

/‘ ~
(E) SToREeS ’ﬁ\f- ﬁl\‘?‘f&.\m:ﬁ

M OOf \m&qg\mn West. South-East becomes North and so on. What wilkhBast b&ome

(A) North 4 (B) South 3
(C) North-Wxt (D) South-East O
E) %\t anempad
TR “ﬁaqﬁ&ﬁﬂﬁﬂﬂﬁ%ﬁlﬁﬂﬂﬁﬂ%ﬁﬁﬁﬂ’qm
(A) I (B) =R
S - g (D) -
/g— SREE | A
3s »\cubc:sco@dmon all faces. It is cut into 64 smaller cubes ofequalétg How many cubes are there
which have qaiy one face coloured out?
gwm&ﬁm%mmmﬁmm%aﬂtﬁ!ﬁmmm msgﬁéqﬁ(wsﬁﬁmmh
mﬁaﬁw@mﬁﬁﬁ:ﬁwmﬁvﬁ:ﬁ:ﬁ" ™
AT 24 B) 26 —
(E) Qumi@not attempted / ARG WX —
36  The branch oRSkience which is related to the improvement of human race am@ based on Mendel's Law &
(A) “"—TOMOE} (B) Genetics w
© "\mh"Bl“g‘ (D) Eugenics b
(E) Questiomnot attempted Q
ﬁaﬁﬁﬂmmmmﬁ%wﬁmkmm%ﬁﬁw
A) TR T ,(m' SR/ 3 °
(€) AT G TR &‘
() SIHEIH
Q13] 2! : 8 | rT.0
———L ;f =
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19

40

41

42

I o

Viven 1 gcm"““““ is crossed with any one parent, then j; ig called;
Whe )

(A\) Reciprocil OrONs | O Dingpg .
() Tont ero (D) Back crosg

(H Question not \lLlrmplcd |

e 171 ) & e R R R IT BT T o— .

(A) o danl S i
() i WFT ) i,

(1) AR v

Choose the word ﬁil‘}i_l{lr in meaning to the underlined word:

(E)  Question not attempted

Q3 F

13016691

It is exasperating lu‘d.tgcn to the suggestions of my neighbour about international afg{
pothing. WO 0
(A) boring i (B) frustrating Y
(©)  disappointing® (D) amusing S
() Question not g‘_'t'_?f:mplcd ™
v
Choose the word similar in meaning to- TENACIOUS
(A) resolute il ' (B) malign
(C) timid (@) (D) modest g
() Question nolt@cmptcd : {o)
' O
~ —
Which of the followIhg is NOT an input device of computer? P
(A) Joystick ™ (B) Monitor 28
(C)  Trackball (D) Image scanner i
(E)  Question not attempted
Frerferfirr & o AR O e e T E !
(A) wafes - % ' (B) it g
©) T O . 4B) TAET O
(B) orqafawy v i
o o
Choose the most apggpriatc word to complete the given sentence: —
The City Centre Mall was crowded tourists. "
(B) wit
(47" from
1 ., (D) of i
(C) by P 5
(E)  Question not giempted 0o
Choose the most ap;igpx' te word to complete the gwe:::;r:lcncc. —
. a .
A teetotaller is one who abstains _____———— o
o (B) on (49
(4)  from i (D) with i
JASin

rs of which he knows

[PT.O.
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o

I - -
Select the reptilian member found in Rajasthan -

(A)  Wild boar (B) Buzzard

(C) Indian Porcupine (D)  Indian Chameleons
(E)  Question not attempted

T © Qg 975 379 §099 959 ¥ 997 £

(A) ST R (EEE (B) ==
(C) v &S (Fe= i) /(D!/meﬁz(gfgaqémﬁw.

(E) gsRasw

Which of the following will undergo faster bio-degradation?

(A)  Mango pulp (B) Mango wood
(C)  Mango seed (D)  Mango peel
(E)  Question not attempted

F=TEs s Suw a1 ¥ SewTE e e

(A) FEFT (B) IWF T
(C) === BT IEEees
(E) SIIRG 55

The scientist who classified the blood into different blood groups is-

(A) Karl Landsteiner (B) Edmund King
(C) Richard Lower (D) Jean-Baptiste
(E) Question not antempted
é:ﬁaﬁzﬁmaﬁﬁﬁ:ahaﬁﬁmﬁgm%mm,aai

,(xr Eaie—c—ir oy B) wa=sfFEr
(C) F=Z&== (D) SF-3fe=
(E) FgEmaws
FE-IEEET - T gifoE e -
THT -1 (T ) T -1 (@)

= sgEw L age

b. fnim . T

c g I a§iﬁﬁf

d ggEmy IV. I=divE
ﬁ%ﬁqmﬁwﬁémf&zﬁmmgﬁq:
(A) a-ILb-MLc-1v,4. ABT a-1V,b-MLc-1,d-TI
<€) a-Lb-1v,c.m, 4. (D) a-NLb-Lc-1,d-1IV
(E) 3Iafawy
TR T A ey 2.
S ® i
A = D) =
(E) Fqafaws

Q13] ? 10 1 pT.0:
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32
| — = 1 &5
# ammT qaivm%fl 3{1&«' -arg?
'fg el Y2 ) ©
N -
( = il
le;becomes; 80 m longer when the al o
g The g shadow e po - ¢ altitude of the sun changes from 15 10 30°, Then the
o hmght Of[hc pOIC ) 45° a 300 % @,‘a_ i
AT (TS SIGEHCIT & T T 1 BT 80 e e art 21 el 2, @9 fir e
40(J5+1)"‘(’ﬁ) 9 (B)  80(3+1)m iy
(A) r . ) -
© o3~ hmclt) o Py 30(V3+1)m ) o)
() Question not attempted TR T V)
o Lo
sp Asumof money is to be distributed among P, Q, R, S in the ratio of 6:2:5:3. I R gctngOOO more than S,
then what is Q’s share?
@ FURT P, Q, R, Sa?qm{:‘zgs :3 %mﬁﬁﬁaﬁﬂaﬁwﬁ%mﬁRﬁsa: 2000 a;ﬁaaﬁmﬁ%a%om
e forertT €2
(A) ¥2,500 (B) ¥3,000
() 1,000 - (D) ¥2,000 v
(E) Question not attempted-F ST 97 _ 0
W0 0
51 Kamal had 200 toffees. He gh¥t 5% toffees to Ram, 15% toffees to Aman and one-foltith of the toffees to
Gopal. How many toffees are’l?:*ft with Kamal after the distribution?
FI & 9T 200 ST ot 3?%(5%) STRY T I, 15% SThT 3T <l 3T et STht AT arm!;rrhmaﬁﬁm =
31 ¥ 1S e F ITE Frat 2 s (5
3T
A) 120 (B) 130 T
(C) 100 @) 110 i ae
(E)  Question not attemptedc;[‘faﬂﬁﬁ?r a4 . &
R . o G °
52 What will come in place of theyjuestion mark (?) in the following series? \Dq’ - 197
ﬁqﬁi‘éﬁﬁuﬁﬁgwﬁwv)%wmww - 3M
16,33, 98, 197, 590, __? !‘X:;,_ \F 6%
A5 1181 322 (B) 1281 r 9%
oAtk ooy @ 1081 9 &
(C) 981 \'\7\—*5 oxa &= e —
(E)  Question not attempted / I W= s 94 = " qeT [
: L, iod from 4% feb. 2090 18" April 2009.
53 Find the simple interest on ?@00 at 6:1— v per annum for the period from 47 fe O o pn
(A) 25000 0 (B) T90.00 o . 197
(C) ¥37.50 ;‘3 ) =0 "" ,-——:5""
(E)  Question not attemptedy
7 4,000 T 6— mﬁaﬁmwf%ammﬁml
4Wﬁ2009ﬁ1831§’61'2009‘7‘f 1 arafir & fere o z90d0
(A) 50.00 (D) 7550
(C) %3750
(E) Igaiawe .
13 ) - ' 19 [PT.O.
N - g4 240 o

, =Y
° .M D - o

LI
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o

In a certain code language, ‘life is good’ is coded as ‘ti ve su’, ‘enjoy life’ is coded as *fs ti” *character shqy,
be good’ is coded as ‘nx, nu, bs su’. What is the code for ‘is’ in the given code language?
et e o d “life is good® Y “ti ve su" ‘enjoy life* @Y fs ti’ *‘character should be good’ & ‘nx, nu, bs
1S faa siran 1 36t & TS WS W s ¥ R e g & Life iJJ’.i’.‘"‘ﬁ"’_Q’@
(A su B) nu ergoy (1Fe = F3rti ‘
©) _AP7 ve -rad.!h"‘“ ch{offhm}‘
(E)  Question not attempted / Cﬂfﬁﬂﬁ BE ] Cha . @
P,Q.R, S, T, K and M are sitting in a straight line all facing north direction, but not necessarily in the sam;
order. There is only one person sitting between K and R. T sits between P and S. There are only two person;
between T and M. K sits on the immediate left of P and P sits in the middle of the row. Which of the following
pairs of persons are sitting at the extreme ends?
P.Q.R. S, T. K 3R M #ft 30 foem o 3710 s oo wieft cveet o &% & Sfrer sty 7 2 o et o o 1 23
&N K TS R & o7 el W oA a1 21 Pudt s S e § T a7 2 T IMMF AT Fradiafr A3 H PFHam
T i STK Fa1 R o P AT F e F ATy ﬁm%%aﬁﬁaﬁwﬁﬁwﬁﬁﬁ?@"aﬁwrﬁmé%%?
(A) KM (B) T,M
R,Q D) S, T

(E)  Question not attempted / 37afRa v
Which of the following projects has brought a revolutionary change in the tribal dominated areas of Rajasthan?
Choose the most appropriate option from below:
(A) “Veer Sagar Dam Project (B) Mahi Bajaj Sagar Dam Project .
(C) Bhakra Nangal Dam Project (D) Jawahar Sagar Dam Project
(E) Question not attempted
Freferfie & fos oo & e 37 SRt ager A o sReent e o 27
1 % & wadt suge ey =)
(A) FRETR 9 gfEieEy ABYy AT S AR s qiEis
(C) T AT =iy qig ey (D) '~ ETeR WK &y qRESET
(E) wqafagsg .
Which of the following s the first Super Thermal Power Plant of Rajasthan?
Choose the most appropriate option from below:
(A)  Chhabra Thermal power Plant (B)  Mahi Bajaj Sagar Hydro Power Plant
(C)  Suratgarh Thermy) Power Station (D) Jawahar Sagar Hydroelectric Power Station
(E) Question ngy, attempted
P T e ke e
e & & HE 3705 ey 3,
) mﬁww (B) T it e e e etz

ACT TR ST iy G oS e — -

Qi3] ? . o 12 [ P.T.O:
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line medium, the equivalent weight of KMnO, is -
alinc .
& In alk -qqﬁ, KMnOj aﬂwﬁqﬂ% -

grrdta T
*) M (26.33) (B) M (158,00
6
o 3E JBT~%omm
(E) (jucstion not attempted / SI'fiﬁ?l ML
- gmmﬁﬁqﬁmﬁmmmanﬁmdrgnmmamami
S GREN B) R
) T (D) 3=
() I A
60 Freferfiaa i aemwa” foram e T i a1 R
A HaE (B) e R gorermat R
© o D) TwEHY
(E) efE S
61 The value of [logqq (Slogq 100)]? is: bR quq
[log;go (Slog, 100)]> 1 A &:-
‘ 1
A) T¢ ®) 5
1
© 3 _ D 1
(E) Question not attempted / TR T
62 Ifsin 23° = %, then sec 23° - sin 67° is equal to :
‘Tﬁ23°=%a'asec23°-sin67°a'(1ﬂ%: ,
a
a .
@ e N
a ' B 37
© p_z b2 +a*

(E) Question not attempted / i v

s and height are equal to each other is to be melted and 162 identical

63 . . : i
A solid metallic cyclinder whose radiu - rsial, 80 formed. What is the ratio of the radius of a ball to the
q ’

solid balls are to be recasted from the li

radius of cylinder?

t@aﬁﬁwmiﬁMWmmumﬁﬂmu@&wrmmawh

T S e e, R fisar T S
ma@@ﬁaaﬁﬁm@ﬁﬁgﬁﬁwmwﬁgﬁ?l v
(A) 1:6 ‘,(9)' 105
© 1:4

(E) Question not attempted / Figate 54

jQ1312’

13 - [PTO.
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64 Formr st o iy - iR & o
(A) @ i A faem Y
(C) pered (D) ﬁ! + 99 ¥
(E) N‘ﬂﬂﬁﬁﬂ -
65  Hfiq-afia yez g @ a3 e A @ R ©
(A) € -FreT (B) -t (7
e) e - oy (D) - 8T e
-(E) fguia s
66  Which qfthe following is the state flower of Rajasthan and is also a timber yielding tree?
(A) Rohida (B) Shisham o
(C) Khejr (D) Sunhemp ::g

(E)  Qdéstion not attempted
ﬁwﬁuﬁ#ﬁﬁﬁ:mmmmw%aﬁ(@mmmﬁmm%ﬁ

A (B) divw m
©) GS¢ (D) &% -l
(E) :ﬂgaﬁaw
67  In humans receptors for opioids are presentin .
(A) Reppiratory tract —i
(B)  Bath CNS (Central Nervous System) and Gastro intestinal tract (o))
(C) QNS (Central Nervous System) ’ O
(D) G3stro intestinal tract ' _ o
(E)  Question not attempted i
EIEER T et a ﬁ!ﬁaa%ﬁmaﬂﬁmmguﬁ:ﬁ(ﬁﬁqm)#waﬁ%
(A) gaTTe (B) =7 dfyenT o U4 St O ST
Lor g dErad (D) AT =
(E) Safa@wx
68  Choose the most appropriate Hindi word for the given word: REGULATION Ny
(A) (B) et m
L5 (D) SRcuTE e
(E)  Qugstion not attempted O
69  Completethe sentence given by choosing the most appropriate word: v
A persog'ho admires/loves himself/herself too much is a- Q
(A) oyice (B) Numismatist :}
L& Narcissist (D) Narcisus
(E)  Question not attempted
70  Choose the word opposite in meaning to- q
SUSCEPTIBLE g‘\
(2) Rfpdictable ABY unpredictable ¢y
(€)  ingyedible (D) immune o
(E)  Qugstion not altempted T
71 Choosec@)c Most appropriate options to fill in the blanks: —

——— :;);h friends are busy tonight. of them are wnﬁr?g, an exam the next day, bu!
€m were still ready 1o party and so far of them have confirmed.
(A) none, most, all, nope
All, most, some, none

Some, some, gq
(©) . me, al| (D)  most, none, all, some
(E) Question not altempted

3] F 14 | PTO
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7’

{lpp C [t % VR

|
- the MO> _
“ ‘“\.\l . el =
Ch nEUALe of a circular 18:
rhe RETEL B
objective (B)  roung abouy

(A) :
) mguc "(D)" cn‘Oll(\n[]l

(:j) Qucsliﬂﬂ not attempted

(1

prass is AN oy of

(A) Tin and Lc;u; B fronass "

o Copper and £Inc Bl i@ .

:8 Qucslion not attempted M gQ““"dTm
2

et T PP G A

- ﬁj{aﬁtﬁrﬁéfﬁ %}\\ﬁ\\’\m (B)  eT e vy o)

) I ’(_Q)__a;'mm&“ﬁ

(
(E) 3‘3% wd

Which technique is suitable for the disposal of biomedical waste?

(A) Landfill (B) Recycling
(€) Disposal in water (D) Incineration
(E) Question not attempted

3q-frfear srafire fraem it 39w TS 8-

(a) e (B) SR

©) urtH foeE BT TS

(E) Haia 94

According to census 2011 which of the following districts of Rajasthan has the highest literacy rate?
(A) Churu (B) Jaipur

(C) Bikaner (D) Kota

(E) Question not attempted

2011 ﬁm%mﬁmﬁﬁaﬁﬁm%mﬁ%ﬁmamma

(A) T¥ (B) AR
(C) st D FIeT

(E) rgaita war

Given below are two statements about Lat
Statement I: Laterite soil is found in Dungarpur,

regions.
Statement 11: It loo

In light of the above statements,choos .
(A) Statement I is true but Statement IT 1s false.

(C) Both Statement 1 and Statement II are tru€. D)
(E) Question not attempted

1 e firgh 35 e A 4 et UL ety e e et A S g &

erite soil:

central and southern part of Udaipur and in Rajsamand

red due to presence of iron. . .
. g e the most apprOpriate answer from the options given below.

(B) Statement I is false but Statement II is true.
Both Statement I and Statement II are false.

T 1 e g S, I F A -

TUT- 10 : ;ﬁ%(m)ﬁm*mﬁugmﬁmgﬂimgﬁ: -
Wwﬁ%mﬁﬁﬂﬁ?'a“;: ®) mlm%ﬁam?naﬂ%l
%ml;&;%gﬁgﬂg 7 () 1 3R I T T €

) wA R

(E) srgui v 15 [ P.T.O.
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Read the passage and answer the questions that follow by choosing the correct option. (Q. 77 to 81) 19
Experts in climatology and other scientists are becoming extremely concerned about the changes to OUT'Clima&—‘

which are taking place. Admittedly, climate changes have occurred on our planct before. For example, there ha~,!‘

been several ice ages or glacial periods,

These climatig changes, however, were different from the modern oncs in that they occurred gradually and, as f

as we knowmtumll_\'. The changes currently being monitored are said to be the rcsg!t not of natural causes, but of

human actijy. Furthermore, the rate oi‘clmngc is becoming alarmingly rapid. ¢y

The major problem is that the planet appears to be warming up. According to somé.€kperts, this warming Procesy

known as nlr—f;al warming, is occurring at a rate unpreccdcntcd in the last 10 OOO%ars The implications for ¢,

planet are very serious. Rising global temperatures could give rise to such ecological disasters as extremely high P
increase in the incidence of flooding and of droughts. These in turn could have a h&fthful effect on agriculture,

It is thought that this unusual warming of the Earth has been caused by so-called g,rc-e‘nhouse gases, such as carbey
dioxide, bcniﬁ\emmed into the atmospherc by car engines and modern industrial processes, for example. Such gases
not only adctg the pollution of the atmosphere, but also create a greenhouse effectggy which the heat of the sun js
trapped. Thigdeads to the warming up of the planet. (e

Politicians dre’also concerned about climate change and there are now regular sum}nfts on the subject, attended by -
representatiyes from around 180 of the world’s industrialized countries. Of these summlts the most important one
took place in Kyoto in Japan in 1997. There it was agreed that the most industrializédcountries would try to reduce "
the volume of greenhouse gas emissions and were given targets for this reduction oﬁmissions. ]
It was also?ﬂggested that more forests should be planted to create so-called sinks to absorb greenhouse gases. At
least part oa;;e problem of rapid climate change has been caused by too drastic defogestation.

Sadly, the ets are not being met. Even more sadly, global warming about chmm changes are often still being

regarded as&:aremongenng \..0
™ - 1
77 Identify the correct statements o

The ice ages or glacxal periods are examples of climate change§h the modern tlmes
In the past, chmate changes occurred gradually and naturally

Rising global tempratures can cause more ﬂoodmg and droughts

16e%le »

Greenhouse gases are glven out by plants r-'l
The climate changes loday are dissimilar to those of the past. Ci’\
Choo&the most appropriate answer from the options given below: tg
(A) (b, aanddonly. (B) c,dandeonly. v
(C) "Bl cande only, (D) a,bandconly. <
(E) Question not attempted (:3
78 The g'l_'_efnhouse effect is caused when ‘
g;)) %,?l: ira::: lci:le carbon-dioxide trap the heat of the sun in the air
oured glass or mesh is used 1o cover the plants v
(©) ﬁhe green trees form g canopy in the forest i
(D) (Fhe roofiis covered with g green plants 1o keep the building cool :g
(E) uestion not attempted | v |
01317 16 & IPLY
4
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82

83

were not suggested atthe Kyoto S

. e .
which © t Vost in dusmalnzed countries would reduce emissjop,
: ests should be cut to create the so called Slnl:s

z More for
. The automobile industry should roll out electric vehicles
d'. Targets were Sct t? r.e de: e the volume of greenhouse ga; emissi
g the) rate of industrialization should be contained. B8 cisston>
Choose the most appropriate anSwer from the options given below: :g
n © J and €xonly- (B) b, candeonly. aj; f
© &b and-conly- P) b canddonly.'O
(E) Questio{nf?ot attempted -
N
The ,mp||cation§ of an unprecedented rate of are very sé‘;i"6us.
(A) Ecological disaster (B) Kyoto summit v
() Flooding & dr aughts (D) Global warming
(E) Questlon pot attempted ‘ -
Match List- -1 wlth List-1I (\ﬁ( \ :j :
List-1 (Words) e\‘\g@g List-II (Meaning)
a. L{x:?recedented Y\Uf\ﬂ Forests land, which absorbs carbon-dioxide
from the air '

II.  That which has pever happened before
III.  The deliberate spreading of frightening rumours

C. Sinks
IV. Something that is suggested

b. Ifﬁglications

d. chrc mongering
Choose the most appropriate answer from the options given below: ol
(A) a- 11, b=V, c - 11, d-I B) a- v, b- 11, =11, d-1
() a-LbtiLc-TLd-TV (D) alIbIch’le
(E) Questldjl hot attempted 7_4
=)
(‘ ﬂ"‘. -
Natural rubbeg.is a polymer of : M
(A) Neoprene (g) Iso;:::ztam v
(C) Buna-N , (D) cap
(E) Questian-hot attempted »
TThided co}
o wg ﬁt?ﬁaﬁaﬁ LESEAE B ST :;;2
D Focaed by
(C) =T CBuna-N) \EJ
(E) HjT‘Iﬂ?UI-‘}T '!““3
€ N the Indian Constitution bon%ﬂed the Directive Princi
From which of the following Constitutions b2 4 rectve Principles of
State Policy? . @) US Constitution
(A) Irish Constitution (D) Canadian Constitution
(C) British Cdnstitution

(E) Quest:d(nhot attempted " Faea
E”' y (B) waaﬁraﬁunu
(D) mmqﬁuﬁL

(C) ‘aiﬂ : » €
48]

(E) 17
-4 [ P.T.O.

‘.-v-

Q3| F
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84 Who was the first woman chairperson of Rajasthan Human Rights Commission?

(A) Pratibha Patil (B) Shanta Kumari
(C) Kamla Beniwal (D) Kanta Bhatnagar

(E)  Question not attempted
TS qrHaETfusR A 6 9eeft afgar srow 217 o7

(A)  whnfre (B) ten
(C)  wxen ¥Hrare APy~ n e
(E) yafmus
85  Which of the following is an important ‘ISABGOL’ producing area of Rajasthan?
(A) Jaipur (B) Kota
(C) Barmer (D) Jodhpur

(E)  Question not attempted

ﬁq%ﬁaaﬁémmmm&i@waﬁ‘éwﬁa’mﬁﬁ?
e

(A) SR (B)
(C) =R : /('B)/’ S
(E) afaws b

8  Which City of Rajasthan is known as “City of Garments”?
(A) Jaipur (B) Kota
(C) Bhilwara » (D) Bikaner

(E)  Question not attempted
TS FTFH J1 36T IR 3 W6t (Rt 397 i) 91 & ST e 22

) |\ (B) T
(C) +eEmr (D) &R
(E) FAiEws

87  What is the minimum number of meetings of Gram Sabha to be held in Rajasthan in a year under the

Panchayati Raj System?
Choose the most appropriate option from below:
Wﬁmm@gﬂ%m@aﬁﬁmﬁﬁaﬁ%aﬁﬁmmﬁaaaﬁﬁ:ﬁmmmm
Fatammasgs e - . - “

—K) 2 . (B) 1

(C) 4 (D) 3
(E)  Question not attempted / STefta w1

88  Inthe 12% Five Year Plan of Rajaﬁthan which sector has been given maximum allocation?
(A) Agnculture and Rural Development (B)  Social and Community Service
(C) Industries (D) Power 7
(E)  Question not attempted
T 1 | 241 Gttty ooy i fopg W EY it st fay

/““”/?fﬁ'ﬁ e (B) mmﬁmammgzrﬁmﬁm

(©) 3am . (D) it
(E) AT

Q13] ? 18 [P,T.O.
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W

h . nn?il\hm““
(Y

o

»l-z » ‘ L .

“was first called *Maru® then *Maruvara® and e ”
printe option from below: on canie to be called ‘Marwar’.
‘ { h

pharatt (B)  Dholpur

o (D) Jodhpur ¢
ot ateempted <

b QuesiON T e e e ST o, i s )
(/;{@g‘fgiéﬁq‘ﬂﬁ| SN AT F qrErs Fw 9w -
el

(A) sl o (B) ‘ﬂ‘a&t ool
e }D}’:‘ﬁuﬂt oy

© @)
; L) ‘o
. 15t person to use word ‘Rajasthani’ \£)
o whowas@eBEE ajasthani’ for the language of Rajasthan?
(A) George }Ygllmm . (B) George Franklin
() GeorEe Abraham Grierson (D) George Lincon' Garryson
(E) Question Tot attempted pe’
e v & T e TR T S weler e st 3 fom?
@ ‘?"%‘“."ﬁ : ®) R
(E) Wﬂﬁqg : W
pe (X9

Which Indian Teceived the ‘Green Oscar’, Whitly Gold Award 20247

9
(A) purnima Devi Barman (8) Tiilsi Gowda ';,'
() Amrita Devi @) Alice Garg )
(E) Question.pot attempted =
o sy o SR, St e 2024 STH §?
(a) et ¥t B g e
) 3mar e+ @ WET
9 (\21 . t; b ﬁg an of the €0 mittee set UP to e);z;r;line the issue of hol;;;\g simultaneous elections in India?
oisthe chalgpen hree Laxmikant Bajpai
(A) Shree Baburam Nishad g;)) zhree Vijaypg;% Sing;pmmar
(C) Shree R%:nam Kovind ¥
(E) Question riot attempted . 2
mﬁ@m%ﬁmﬁ%gﬁmﬁ%mﬁwﬁﬁ*;ﬂ 158
(A) aﬁaragmﬁﬁrﬁ D) 4t Rrorarer Rt At
(C) sAiauATd: i i_i;
® v R
0 : i Singh of Rajastham is associated \iV“h \'anlch one of the following?
93 2023 Arjumawaptee, DIVYERL 25 (B) Equestrian show jumping
(A) Equestriar hunter trails (Dy Equestrian sy
©) Equestri';? dressage ; . R dm;:‘ N
i ot attempte i,
W(E) ngrm 2023 % Fr et m,an gt 30t i
(A) gl LT (D) GET T i
©) ggEETdFE
B P [ P.T.O.

3| F
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94 Match List-I with List-II

et -1 g -1 gafem i

List-I (Decimal value) List-11 (Binary value)
et -1 (FIHEE ) et -11 (R e
a. 4 L 1000
b. S 11. 1001
G 9 L. 0101
d. 8 IvV. 0100
Choose the correct answer from the options given below:
R R Rt @ 7 ST
A a-ULb-1V,c-IL.d-1 (B) a-ILb-M,c-IV,d-I
(©) a-IV,b-Il,c-1I,d-1 D) a-IV,b-MLc-II,d-1

(E)  Question not attempted / JyaRa ¥

95  “USBstandsfor ?
(A)  Universal Sequential Bus | (B) Uniform Series Bus
(©) Universal Serial Bus Universal Series Bus
(E)  Question not attempted g—‘\
EAGEINE L U S m q\\‘?‘}/
(A)  Fhrade e o u—\‘(\U\ ®B) IherHieTg

_&r ghadadifaa s (D) Ifada e sw

(E) Sgaiawx

96  Who is the I* Indian Woman Athlete to win three Paralympic medals?
(A) Sheetal Devi (B) Kanchan Lakhani
(C) Mona Agrawal (D) Avani Lekhara

(E) Question not attempted

i ATt e it aret vaelt WA witer tyehe SR ¥

(A)  fiae & ®) FTwEEh
(C) i mET By =R
(E) igafaws

97  Porpanaikottai, Sangam age site, is located in which state?
(A) Arunachal Pradesh (B) Tamil Nadu
(C) Kamataka (D) Kenla
(E) Question not attempted
QrIEs, T g we, e ue i fem &2 -
(A) 3revTEE waw - (B) ATy
(© FAiew \ )))/ Ec
(E) Sui@ws :

013 ] ? | 20 [P.T.O-
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¢

o

st Asian player to be nominated for Interggio, -\
al Tennis Fal|
of F

isth
who '
o der paes B ame?
N B b - (B) " Mahesh Bhupati
uki B8 D) Rop .
© estion not attempted ohan Bopanna

n '

celect the MOSt incorrect statement about Ganeshwar excavations

var excavati '
[n Ganeshv - ations undertaken by the Department of Archaeology and Museums, Rajasthan
brought to light about a 5000 (approx.) year old culture ,
Here copper was received from Harappans.

@)

(B)
© Ganeshwar is an important site of copper culture.

@) Itwas discovered at the source of river Kantali at Neem Ka Thana.
Question not attempted

E)
T g & el § awd JTEC HY T =TI _
(A) Wﬁmw@mﬁmmﬁnﬁqﬂﬁw 5000 o G wepfer ST F AT

By Tt oo & TS STH R St o

© AT T TR T T Hee e e €
D) nﬁm,qﬁwmmﬁmﬁ%@ﬁwﬁﬁﬂﬂé

(€) gafawd
10 Kalibangan is located in which place of Rajasthaq? -
(A) Hanumangarh " (B) Sri Ganganagar
g .
Sikar
(C) Jaipur (D) Si
(E) Question not attempted
anmmasﬁmwﬁmﬁm%?. @ A
Ay TG o zﬁwl TR
(€) AR
(E) ui@sd ‘
Kamal is 34th from the left end while Ravi is 20th from the
01 Some boys are standing in 2 qu?:;tfg?gfhaﬂn' 1f Kamal stands second to the left of eshaan, then find out the
right end and Ravi iS gth to the ! | o )
total number of boys i th° row? ﬁﬁ‘lﬂ@% ) e BT 34%%@%?(&@@%?20 i W R
dﬁsﬁaﬂl’ﬁ’“ﬁmgg ww*wmiﬁwmwﬁﬁqﬁﬁﬁa@ﬁ%
o, A T =
o ATl | (B) 66
s oA
o piea e 2 a2 [PT.0.
(E) Question .
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N

o

_ . '+ Set up the same relationgp:
102 There is certain relationship between the pair on the left side of 2 Set up Ship o the

side of :: then find out which uph'm“(vuuld replace the 7" ;: 1
. :
LANGUAGE : PCRIVCKG :: COMPUTER : ? . \O
I v R T & 9V 0 WA R § & anfed) avn g aid day et e ] lf*?%n
BN W ey o wwan / : )
LANGUAGE : PCRIVCKG :: COMPUTER : ? M
AT GQQRYVIT . (B) GQQRYSIT -
(€©)  GQMNYVIT (D) GQRRYVIT
(E)  Question not attempted / :ﬂaﬂﬁa uy e
N O
103 Find the numbers of triangles in th€'given figure: :g
f= g [ Y & I vy
¢ 3t d g mﬁq r
(- -t
(1) ™)
v vy
(A) 31 B) 17
Aer 27 i (D) 29 "y
(E)  Question not attempted / 313’;*1?[ i h
e W
0 o
104 The area of the triangle formed by the lines 2x + y = 4,x-y+1=0and x-axis is : .
= Y T"’
(A) 4 squnits (- (B)  5squnits o
(C) 2 squnits ™ (D) 3 sq units )
(E) Question not attempted .
’@raﬁzx+y=4,x-y+1=0q#xwﬁﬁﬁaﬁgsrmahtﬁa%: .
(A) aTigar - (B) Ssatge i
(C) 27 gard ?0’ (D) 3w gard o)
- e
(E) safayy W0 0

105  In the figure below, PQ is parallekto RS, /PQM = 80° and <SMO = 25°, What is the vajueI of ZOSM!
19 % mé smEfa i po, Rs %mn‘ag, <POM ='80° 3T £SMO = 250 L OSM Fr P T B

/ /\ R e
Q 0 v e

s F

O v

S rj 4

) 550 ) ' =4
(A ' v
s ' (B) 65° (4]

(©) 50 r4 i

(E) Question not attempted / Wﬂﬂﬂﬁ 4 . &

31T | . 22 | L
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e
e I—E'_h_f‘h%n%mmﬁn_l_lm_l_ﬁ
, ol given
f cluS'OnS . g conclusippg lo own facts.
;0 J:No singer is director gically follows from the gi
, given statements

Sm‘fme .
Some directors are teachers
Some teachers are students

clusion’ (I) Some singers are students
0

(1I) Some directors are students

Neither conclusion I nor II follows (B)
Both conclusions I and 11 follows

Only conclusion I follows (D
) Only conclusion II follows

E) Question not attempted

:_fma s e R WWT::?;::;WMWM?L@WWW
. S T R T @1 % =L
£ AP T €
frart: (1)3»’&511121_%%%
(11 Fo s o @
(A) T4 frerd [ ST L HET & ®) i e 1w e E
') Faw et e oy Fee et
() it 94

e first Chief Secretary of Rajasthan?
‘(B) Shr Rajesh Bhushan

D) Shri Apurva Chandra

7 Who among the following wWas th
(A) Shri K. Radhakrishnan
(C) Shri V. Narayan '

ﬁﬂmﬁﬁﬁmﬂ%wﬂgqﬁa @) AT

o

(C) st <ft, ArqEoT
(€)  orgaia 9 ,
: 2
. db uslim League:
|08 When S ‘Direct Acti0ﬂ Day celebrate ) f < (B) 20 August, 1947

(A) 16 August, 1947 : (D) 16 August, 1946

(C) 15 August, 1942 3

&qxﬁn*::;nemm feae’ ™ @® 2031947

N - . ’@_:mamﬁ, 1946

(C) 15 37T, 1945 - 23 [P.T.O.

0 (E) :qgaﬁ’a‘ﬂ%r
13‘?
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LA L4 1 WIHICH COICKULY s e

Rajasthan? (';;‘ o vl
Y e E— L - o
(C) Kishore \© (D)  Shishu :*g
(E)  Questionngt attempted
mmgmzﬁma:fmﬂd 2023-24 ﬂmmﬁvaiﬁwﬁwﬂt#mmm <
v+ ("
(A) T _ABy” T vt
©) fri (D) oy
®) s i -4
\0 (o))
110 12B (Zcunbyl&‘:s cqual to: :g
| ZB (Zettabyt & ed
7 3 il . (::)
(A) 1024 KBy . ~@) 1024GB b
(C) 1024 EB (D) 1024 ZB vl
(E) Qucsliowot attempted / 3T 94

(o))

: %z
111 Which of the fH owing shortcut kéy of PowerPoint that helps to present the slides from the beginning?

ﬁw%maa,zéqmmzaammey)mmammmﬁggma

r{
(oo

88|
v

(A) F5 (?) (B) F4
(C) Fl 1 /(D) F7
(E)  Question not attempted / 1Tdfa w41
. H .
112 At what time békgveen 7 and 8 O’clock will the hands of a clock be in the straigp_t'line but not together?
. \D 3
(A) 20 min pas} 7 (B) 75 min past 7
. Q 5
(C) 5 min pagry " (D) 5{7 mini past7

[ ]
1

(E)  Question'Tiot attempted

wg & 7 3t saﬁ%mmwmqumﬁmmfrr&rﬁeﬁq@mqﬁw

3016689

(A) 73””“1’3\@2& ) / 7am 7—ﬁ?€ﬁ'
7wt®qﬁ (D) 799ER 5_ ﬁn—gﬁc’:
(E) | W
o
113 ITENT TR FH R p. :3
34 + 9w €9
‘ (B) ST+
© FTHA+™ ™
W’m (D) I + o7 r-4
e31¥ 2

y [ PQT-O‘

memmn»-...m....‘_. e
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1S

B.

1 Wwith whic ;
. maost appro
Choose the most WP’ri P
W0

Tee)
~
Navratra W
r-
=11 1
Question m&:}mmptm

(A\)
©
(£

A) &

() T -
AR RLLS] s

E W0

The life history %&‘"me sain
| o

riate option from below:

qﬂ&mmﬂﬁﬂmﬁ?
it & ) S et

(B) Marriages
(D) Holi

13016681

®B) faaw
_{Dy~ Bt

S

ts which is available in poetry form in Rajasthaniflanguage i

118
\D
: L
(A) Vachnika (M (B) Dawavait o
(C) Parchi (D) Vaat 3
(E)  Question not attempted =
S T S IR T ST e ¥ I 8, FRA & :
()
(A) T=HE yl (B) IERAd L
ey wt W (D) 9 o
(E) 3afa yg -
3 o (8
™M i
116 Where do womenswear jewellery named ‘Borla’? =
A ™M
(A) Hand (B) Head e
__(C)4 Ear . (D) Nose
(E) Questipn nﬁn\anempted . -
R AT SN AfeeTd FE e §? (o))
(A) ®H i g ~B & b
© == 2 =
™ (D) == ™~
(E) qaitd w1 o
™M
v~
117 World’s first clmrd buffalo was born in which country?
a) usa O (B) Russia —
(C) India \D (D) China ok
_ O
(E) Question n{t attempted 0
fag < veeht 1 = feer 231 3 g o v~
(A) gwe v —BY S;
(C) ¥WRd D) i
(E) 3aRays
25

Q13]?=
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118  When is the National Sports day cclebrated in India?

(A) 25 August (B) 29 August
(D) 23 August

(C) 21 August
(E)  Question not attempted
YR # Uy A foaq & 7311 Sar 7
(A) 253y /(-B‘) 29 M=
(C) 213774 (D) 23 sm=
(E) Igaf@ux
119 Who among the following is the author of the book titled ‘Why Bharat Matters’?
(A) Nirmala Sitharaman (B) Amit Shah
(C)  Rajnath Singh (D) S. Jaishankar

(E)  Question not attempted

ﬁw%féaﬁﬁaﬂ:‘mmﬂzd'mgm%é@mﬁ?
A Tt diaromor (B) 3fia wme
(C) T (D) '

TH. SIgIa] .
T - b biaganand €Y

120 CH;COOC,H; + H,0 — CH;COOH + C,H;OH
In the above reaction, which of the compound is the “auto catalyst’*?
S iR § 7 |1 i < 8 ht i e e &2
(A) CH;COOH ' (B) C,H;OH
(C) CH;COOC,H; (D) H,O 6*‘ r*
(E)  Question not attempted / AT ¥y

2 +C Z | a\
121 Zn+CuSO; —> Zn SO, +Cu /”,\qy\\cg;i_‘% %?. M

Which is being oxidised in the above reaction? ) QT-f"
F @ srfiafiean § ¥ sifair g i | Y

(A) Cu '~ (B) Cuso,

(C) Zn (D) ZnSO,

(E)  Question not attempted / ATl wg

122 Some metals sink in water, as:

(A)  their surface area is lesg than water, (B) their mass is more than water.
(C)  their density is more than water. (D) their density is less than water
(E)  Question not attempted
TS UL e | g et &, iifeys -
(A)  STH THIT &%et 91 & 39 BT 2 (B)  ITT ZoNTT et & 1R By &
(O FFETE I Afyw B 2 (D) FFETEITAFTOMR
(E) aRaws
QI3 ’ ? 7 26 [ P.T.O.
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I — |
icle of Constitution of India, deals with the dutics of e Chief
f ie

ch A Minister .
y \\1)1# Article 164 B)  Article 165 “
(A rticle 162 D) Articje}1¢7
© f@lesﬁon not attempted L
) ;,Wmaﬁ?wa@?m?ﬁg@mﬁ%ﬁwm (a
G 164 TR e
R l B) 13165
o D) 32167
o et o
v v

Raj 31y
(A) (Reservation of seats for SCs and STs on the basis of theitr‘;op lat
-HOpulation,

@) |Oficial participation of political parties at al] levels of Paf

D) (If the Panchayati Institutions are Superseded, elections mfist be | Id withi
() ftiuestion not attempted U eld within one year.

wﬁmwmﬁmﬁmuﬁ%ﬁﬁwﬁ?ﬁ%ﬁﬁmmgmﬁ:
(8) T S A 3 R i oo e s s 3 o

(B) ISR Tt WISt H Tt weit B e w -
Mﬁ;ﬁﬁﬁﬁm“*““ﬁwﬂwwm 5

(D) \af TRt Qmﬁwmmm%,?ﬁ@aﬁ% O

3 iR e T
() [STIaie st bl ST e
% )
. e =
5 mﬁ‘ﬁ’iﬁfﬁ?ﬁnwﬁ_ =
L7 T (B) e
© R il
(E) et we | o,
0 , | 0
. '\””?ﬁ;W‘W’aﬁrﬁwféf@ﬂﬁﬁqm@maﬁ%? ﬁ
(A) (B) o,
(©) Co oy f
(E) Ti!";‘ffﬁﬂuar .
i e w5 ey <y Fersera T i, e el - ol
(4) ¢ (B) Wi farsraor
) af?'.“ﬁ“"“"‘ L0
e ;‘%ﬂw (D) ﬁs\v{ra
123 ) i il A Q
ik, . -
ﬁ%{ﬁ%ﬁﬁ’ 31 YeagYh TR - :3
o o Dy~
©) faum
(E) syt ww =5

[ P.T.O.
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[
129 frafafas & e ad g = -

a. srfufa b. - et ‘\H? U()
.. omiai | d  wd a”
.. w@wm gell g
' e . > <
1 fe oy freredt % & wafus 3agw 3w gfi W
(A) cd.e (B) b, d,e 34
© a.cd b,c, d
(E) gafa s /f
130 fF=fafga d *Corrigendum’ %%QW%-_@W%-
(A) =g (B) HT
(©) vfews » Dy uftg
(E) 3maftawy
131 frafafgs § a7 @ wat = )
AT TR (B) ul=gux
(C) w=ux (D) frEETreR
(E) uiaus
132 373 & ffga swaf 2-
A) ABT =g
© = (D) ==
(E) dafaysw
133 ‘THU & IUFW HI T A a1 ¥ 77 v w1 2-
(A) Fard ®) wat
) A (D) FF
(E) SIaRays g
134 -1 gt -1 & gafoa i
Tt -1 (geray) Co R I (aTeh)
a. T - THH 0w —1.  wreRe wE wEr
b. TG . <feT afeem s
c. EWHREEA 0. 3% @A
d.  SEITEEr — V. S S 1 FET
3 fq g fareredt % & watfis suge s
(A) a-ILb-Lc-M,d-IV "~ (B) a-ILb-Lc-MNLd-IV
(€) a-Lb-IV,c-II,d-1II - B a-Ib-ILc-Ld-1V
(E) afaws =
135 ‘3319 TEAT YETat 1 et aref 2.
(A) FOwEamr (B) ST ERT
SO I T TE (D) A firerr
(E) Igaiayx
31T 28 [ P.T.O-
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A0 ey (e Wages for (hejy Work?
(e ‘"'""'\"“ my 4 mon}, I
hat AL s -
| (\: :\\\‘(“'k 11' attempled
TILRAL \ L
t:;, t)“““"‘,:}naﬁ 1 I Ty E\\Lm\l{\ A ) U W 3y —_—
UL ﬂﬁ!:"“i“ (B) U WYy
W W g oy
SRR :
“.: g W
L

st Solar Park of India which ig situnte
yame the largest Solar Park L

din Ru_insllmn.
¢ the most appropriate option from be
(.h‘\\s

low;
\) DBhadla Solar Park (B) Mandsqy, Solar Park
b(-) Charanka Solar Park (D) Pavagadn Solar park
tﬂ Question not attempted
mﬁm@mm&mmma\ ﬁamnﬁﬁwm%?
R R R e e )
Y W YR B) ek wrer arg:
(©) T Y T D) WranTg trerr ra:
¥ Rajasthan Smal) Industries Corporation wag Cstablished in the year:-
I T T T o ey o T ofy
) 1961 (B) 1967
©) 1947 (D) 195]
() " Question not attempted / AR Wy
3 Gandhi Sagar dam is built over Which of the following rivers?
(A) " Chambagy (B) - Manas
() Narmads (D)  Sabarmat;
(E) Question not attempted
AR sy & e 8 e a2
AT ey ®)
©) gy D) e
®) e gs
149 The fivers originating from the Amarkantak range, flowing in aj| directions, is ap example of which of the
follow; . 7
(A)(’Wlng ty;?e‘ of drainage patterns B) Radi]
Dendritje (D)  Centripetal
©) Trenis
Question not attempted i %a}ﬁq%mﬁﬁﬁ:nm%wmmﬁﬂﬁm
TR 1 otk Prerery e et et
H ST 3y ®) vty
W g (D) sifvih
© RISIRL
Ql (E) mn’ﬂ 29
ok

[PT.Q,
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141 Which of the following translators converts high Icvel language into low level language at once?

(A)  Interpreter (B) Controler
(C) Assembler (D)  Compiler
(E)  Question not attempted =
Pt & '  SFaTEh ot st st o v of i it erer s 6 e g S 8
(A) O \0 (B) A :i:
(C) dmeR e Dy HTger -
(E) oufmwn . (oo
m (")
A 1

142 HTTP stand for
Hyper Text Transfer Protocol

(A)  Hyper Text Tmnsmiss'ion Protocol (B)
(C)  Higher Text Transfer Protocol (D) Hyper Text Technical Protocol
(E)  Question not attempted g’:
wAAGwpiwd T W
(A) ¥R IR grafE R f(ﬂf’ BT AL G "'c.gw
(L) ET IR ZAR W ) TR 2 ST TEIpIT
. k”. } — g ==
(E) srafaws . ™M
i a
143 Where was Asia’s largest civil aviation event, ‘W;'r;gs India 2024’ held?
(A) Mum?:ai - . (B) Hyderabad 1
(C) Kochi T : (D) Lucknow =)
(E)  Question not attempfed ool
S ¥) P . -
uf¥mar | T AR IgET FriwA, feima 3fam 2024° st s i T AT
(A) Y=t o L _ABY e O
: o . ™M
©) ¢ ' (D) wETS
Fredt o~ v~
(E) Aguftaws
144 Choose the most appropri“gigé option to fill in ihe'b'lank: g:
=) "
By torno.rrow afternoon, the,plane carrying medicines for war victims \O ff for Ukrain
(A) will have taken 0 B takes S
(C)  will take i : : 54
. ! -+ (D) will be taking o
(E)  Question not attempted 5
Ch - i
145 oose the most appropriate passive form of thé given sentence:
People must not leave bicxcles in the hall
(A) The bicycles are noﬂ; bel fti . . &
. T = eft in the hal| by the people, h
(B) all must not hgbf any bicycles of people o
Nobody should leave picycles . o
(C) cave bicycles in the hall, f
(D) Bv:cyc‘les must not be-left in the hall, “:3
(E) Questionnot attempte ' . M
| T 7 -
31T * [PTO
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option to fill in the blanks:

(o : TR T2
i e MOV iy morning but they still hired boat and went for
(n . s ;
|# I wis - - const. ; B S 7
‘\l\i‘ ol .4—*"/' A (l)) a, a, a, lhc .
e - x, the ;
M the. ¥ .\l‘ , (D) the,a,x,a
g, the
2N N
o 0uc~tion not allcmptul
(t) _ ,
it from & distant object after refraction by cye-lens converges at a point in front of the reting, g
. fl ¢ 1 . . y U1IS
” l -\‘f c\'c dcf&\'t 1S CI\“Cd .
('_\, pn‘sh)'opiﬂ (B) astigmatism
@‘) myopia or near sightedness (D) hypermetropia or far sightedness

) Question not attempted o
“ﬁm”ﬁmme‘“ﬁ“ﬁW*Wﬂﬁ’&ﬁmwﬁgmaﬁmﬁmammg
%ﬁ!ﬁmm%: : -

o @) i

) e an e g ) ereTCiET 1 U g

() TARa XA

14 An object is placed at 30cm in front of a concave mirror of radius of curvature 15cm. The image formed will
be i ' ’ :

(A) magnified, virtual and erect (B) ofsame size that of object, real and inverted.

(C) magnified, real and inverted | (D) diminished, real and inverted

(E) Question not attempted

T 6 lsﬁmﬁmezﬁw%Wsoﬁm{ﬁwr@m%ﬁMWgﬁﬁam:
(A) Nﬁﬁiﬂm,m@aﬂwﬁm (B) a@%m,maﬂrm
(€) smafifa (ar), arafaes NI (D) O, arfadh S IeRT

(E) ¥ 94

49 India's first solar obscrw;lofy has begun its journey to ;hc destination of Sun-Earth L1 point on-

(A) November 07, 2023 (B) December 01, 2023

(C) January 25, 2024 ‘(D)  September 02, 2023

(E)  Question n’ot attempted

pte ; ;
T o ey e 3 2y - et 35 T ﬁ.guaﬁtuma:mmﬁtﬁ?
(A) THETO7. 2023 ) fe@eol, 2023
q9T 07, fererart 02, 2023
(€) =&l 25,2024 aad % .
(E)  armfce wa
: icle _ s d to launch the Chandrayaan-3 mis;ion‘.’

159 . ) . nch vehicle of ISRO us¢ ! andray:

Whlch one is the opcmuonal hcav);'g‘lr::“a (ISRO) &I wipparenh Bl ferer ety ameer w0 & &2

W—Sﬁ:ﬂaﬁaﬁ(ﬂm B) GSLV

(A) GSLV MK3 o7 GSLY MK2

() LVM3-M4 o

/ ;ﬂﬂ'ﬂ'ﬂﬂ w
(E) Question not attempted 31 ( P.T.0.

Ql3|?=
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